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Can I read a thermometer using negative numbers?
Day 2
[image: ]
 Can you make your own negative number word problem? Once you have written it, see if you can solve it!











Can I solve word problems related to negative numbers?
Day 3:
Reasoning:
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Can I apply reasoning to negative number problems?
Day 4:
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Day 5: Can I apply reasoning to negative number problems?
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Can you spot the mistake in these
number sequences?

a) 200-2-4
b) 1-2-4-6-8
¢ 50,-5-10,-20

Explain how you found the mistake and
convince me you are correct.
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2) Sam counted down in 3's until he reached -
18. He started at 21. What was the tenth
number he said?
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Teddy counted down in 3s until he
reached —18

He started at 21, what was the tenth
number he said?
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The frog has landed on 5
£ because it is 5 spaces before 0.

1) Do you agree with Corey? Explain your reasons.

£ C

2) Nila's frog started at 3. It jumped 7 spaces to the left. Has Nila placed her frog correctly? Explain how you know.
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3) Sebastian’s frog jumps to the left in steps of 4. It starts at 12.

A My frog will land on 14

Is he correct? Explain your reasons.
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1) David's frog started at 3. He moved it some spaces to the right and then some spaces to the left on this
number line. His frog ended up at -6.

How could David have moved his frog? How many different ways can you find? What do you notice about your
answers?
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2) Jennie's frog started at 4. She moved it some spaces to the left and then some spaces to the right on this number line.
Her frog ended up at -1.

How could Jennie have moved her frog? How many different ways can you find? What do you notice about
your answers?

3) Now, have a go at designing your own maths problem like this.
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1) Mary is watching the weather forecast. In Iceland, it is -7°C and in Alaska, it is -17°C. Mary says
it is warmer in Alaska than in Iceland because 17 is greater than 7. Why is Mary incorrect?

2) This alien recorded the temperature on their home planet at the same time every day for a week.

Day

Monday

Tuesday

Wednesday

Thursday

Friday

Saturday

Sunday

Temperature

-137C

-4c

2c

1c

-19°C

Are these statements true or false? Prove it!

a) Saturday was 5°C warmer than Friday.

b) Sunday was the coldest day.

©) Tuesday was colder than Friday.
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1) Here is a number line. Each arrow is the position of a number.
-

C is a negative number between -2 and -8.
Bis 9 less than C.

@) What could the values of B and C be? Find all possibilities.

b) Ais 10 less than B. What could A be? Find all possibilities.
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2)

Each alien has started from a number and worked their way up the maze to the finish line.

Finish
-15 -19 -10 -9 -28 -33 -31 -29
-22 -16 -17 -17 -29 25 -23 25
-17 -8 -15 -13 -15 -25 -22 -19
-16 -17 -8 -11 -11 -16 -21 -16
-15 -9 -9 6 -1 -17 -13 -10
-2 -12 -7 8 -13 -10 -7 -8
-4 -3 -9 -5 -9 -7 -6 -6
-1 15 -6 -3 12 -5 -4 7

Start

b)

Look for numbers counting
backwards in steps of 3.

Look for numbers counting
backwards in steps of 2.

Can you find each alien's correct route? You can move horizontally, vertically or diagonally.

This sneaky little alien has hidden another route but he won't reveal the counting instruction.

Can you find another route from one of the starting numbers to a finish number, counting
backwards in the same step each time and reveal the counting instruction?
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What is the temperature showing on each thermometer in °C (degrees Celsius)?

a b 20 c 20 d 20 f 20
10 10 10 10

o [ o

-10 -10 -10 -10

-20 -20 -20 -20

h On Wednesday morning the
thermometer reads -4 °C.
One hour later it is 3 °C colder.

The new temperature is

On Thursday morning the
thermometer reads -9 °C. One
hour later it is 4 °C warmer.

The new temperature is
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3) Solve the temperatures from the information
below:

In the morning it is 4 degrees but then it drops 8
degrees:

In the afternoon it is 12 degrees but overnight it
drops by 14 degrees:

It is 1 degree and drops 11 degrees:
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1) Anna is counting down from 11 in 5's. Does
she say -11? Explain your reasoning.




